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1101[XK1E dbimE 40 400 0 400 10 0 0 0 1728 0 1620
[&5) 40 400 0 400
RAIEES GhH 6 60 0 60
1141[5E4R S 1 10 0 10 10 0 0 0 0 1728 0
GhH 1 10 0 10
1201|833 E% 95 1425 0 1425 15 0 0 0 3564 0 1944
GhH 95 1425 0 1425
1203|F vy [HE 165 1650 0 1650 10 0 0 0 1404 0 1296
BHE 100 1500 0 1500 15 0 0 0 0 1166 0
E& 90 900 0 900 10 0 0 0 1404 0 1242
(&) 355 4050 0 4050
1204/GR—JL _ |[EF 10 100 0 100 10 0 0 0 0 1458 0
GhH 10 100 0 100
1207| & & & 540 54 54 0
1209| B & dbiEE 10 50 0 50 5 0 0 0 3024 0 2808
Eh 15 65 0 65
1301 |HF RE 1 5 5 0 5 0 810 0 0 0 0
e 40 20 0 20 05 0 0 0 162 0 140
BmE 5 10 0 10 2 0 0 0 0 1296 0
e 30 150 0 150 5 0 0 0 2700 0 1944
= E 800 240 0 240 0.3 0 0 0 151 0 140
=H 25 13 0 13 05 0 0 0 0 184 0
= E 14 70 0 70 5 0 0 0 0 2592 0
[E)) 917 516 5 511
1311[F<k IR 2 6 24 0 24 4 0 0 0 0 3888 0
(&) 6 24 0 24
1321 [ BiE 45 225 0 225 5 0 0 0 3024 0 2592
Eh 61 305 0 305
13B1E—<> [EE 990 149 0 149 0.15 0 0 0 97 0 92
(&) 990 149 0 149
1353| Tk (&) 126 18 0 18
1355|445 ERE 80 8 0 8 0.1 0 0 0 0 97 0
(&) 120 12 0 12
1501 | H & e 158 790 0 790 5 0 0 0 1836 0 1188
(&) 173 865 0 865
1521 | B3 iz 3 30 0 30 10 0 0 0 4860 0 3240
(&) 3 30 0 30
1541 | £ & dbiEE 510 10200 0 10200 20 0 0 0 2160 0 1728
(&) 510 10200 0 10200
1603|)L)— [REH 10 100 0 100 10 0 0 0 3564 0 2700
(&) 10 100 0 100
1609|70val)  [EF 10 60 0 60 6 0 0 0 4752 0 4644
(&) 10 60 0 60
1611[LAR R 5 25 0 25 5 0 0 0 1728 0 1674
f=154 4 40 0 40 10 0 0 0 0 2646 0
Gh 9 65 0 65
1612[ =L A2R |[EH 5 3 0 3 0.5 0 0 0 0 1566 0
Gh 5 3 0 3
1627|3=F<F |BEA 60 180 0 180 3 0 0 0 4320 0 3802
Gh 60 180 0 180
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1705| T A= =0 630 50 0 50 0.08 0 0 0 0 56 0
& 638 82 0 82
1803 | EHEE EE 450 45 0 45 0.1 0 0 0 135 0 113
mE 250 25 0 25 0.1 0 0 0 151 0 120
=) 240 48 0 48 0.2 0 0 0 77 0 66
& 940 118 0 118
1807 |#BEH f=554 250 25 0 25 0.1 0 0 0 0 42 0
=% 1380 276 0 276 0.2 0 0 0 86 0 69
GhH 1630 301 0 301
1809[L&HL EF 250 25 0 25 0.1 0 0 0 0 49 0
f=554 2100 420 0 420 0.2 0 0 0 86 0 81
GD 2350 445 0 445
* S FEEL * 18482 38926 64 38862
2103| EE# M A [FIFRLL 18 180 0 180 10 0 0 0 3672 0 2484
[E)) 90 540 0 540
2609 | B f=154 1 5 0 5 5 0 0 0 0 7560 0
Eh 1 5 0 5
2616|S<AAL__ [ELW 2 4 0 4 2 0 0 0 0 3780 0
FE L 10 50 0 50 5 0 0 0 9720 0 7560
[&0) 12 54 0 54
2701|7—JLR  |E%E 1 9 0 9 9 0 0 0 0 22680 0
(&) 1 9 0 9
2801[F BiE 1 10 0 10 10 0 0 0 0 17280 0
GhH 1 10 0 10
2821 |BIER EE 48 19 0 19 0.4 0 0 0 508 0 475
RE 108 54 0 54 0.5 0 0 0 389 0 259
(&) 156 73 0 73
* EEET * 450 1022 0 1022




